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QUESTION 1

Which CLI command does an NSX administrator run on the NSX Manager to generate support bundle logs if the NSX
UI is inaccessible? 

A. get support-bundle file vcpnv.tgz 

B. set support-bundle file vcpnv.tgz 

C. vm-support 

D. esxcli system syslog config logger set --id=nsxmanager 

Correct Answer: A 

https://vdc-download.vmware.com/vmwb-repository/dcr-public/cc42e3c1-eb34-4567-a916147e79798957/8264605c-
a5e1-49a8-b603-cc78621eeeab/cli.html 

 

QUESTION 2

Which statement is true about an alarm in a Suppressed state? 

A. An alarm can be suppressed for a specific duration in days. 

B. An alarm can be suppressed for a specific duration in minutes. 

C. An alarm can be suppressed for a specific duration in seconds. 

D. An alarm can be suppressed for a specific duration in hours. 

Correct Answer: D 

https://docs.vmware.com/en/VMware-NSX-Intelligence/1.1/user-guide/GUID-
EBD3C5A8-F9AB-4A22BA40-92D61850C1E6.html https://docs.vmware.com/en/VMware-NSX-T-Data-
Center/3.0/administration/GUID-EB1BB1D3-88924890-BE74-EF43CFC75F19.html 

"If you move an alarm into a Suppressed state, you are prompted to specify the duration in hours. After the specified
duration passes, the alarm state reverts to Open. However, if the system determines the condition has been corrected,
the alarm state changes to Resolved." 

 

QUESTION 3

An NSX administrator is planning to deploy a multi-tier routing topology in their NSX-T Data Center environment to
provide north-south connectivity for the VMs. 

Which routing component must be deployed? 

A. Tier-1 Gateway 

B. Edge Services Gateway 
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C. Tier-0 Gateway 

D. Layer 2 Gateway 

Correct Answer: C 

 

QUESTION 4

A company is deploying a NSX-T Data Center micro-segmentation in their vSphere environment to secure a simple
application composed of web, app, and database tiers. 

The naming convention will be: 

1. 

WKS-WEB-SRV-XXX 

2. 

WKY-APP-SRR-XXX 

3. 

WKI-DB-SRR-XXX 

What is the optimal way to group them in order to enforce security policies from NSX-T Data Center? 

A. Create an Ethernet based security policy. 

B. Group all by means of tags membership. 

C. Use Edge as a firewall between tiers. 

D. Do a service insertion to accomplish the task. 

Correct Answer: B 

 

 

QUESTION 5

What are the advantages of using a Tier-0 Gateway in ECMP mode? (Choose two.) 

A. stateful services leveraged 

B. Failover of services 

C. traffic predictability 

D. traffic load balancing 

E. increased north/south bandwidth 
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Correct Answer: DE 

From ICM manual: 

Equal-cost multipath (ECMP) routing has several features and functions: 

1. 

ECMP routing increases the north-south communication bandwidth by combining multiple uplinks. 

2. 

ECMP routing performs traffic load balancing. 

3. 

ECMP routing provides fault tolerance for failed paths. 

4. 

A maximum of eight ECMP paths are supported. 

5. 

Hashing is based on 2-tuple IP source and destination addresses. 

6. 

ECMP routing is only available on Tier-0 gateways. 
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